Lomb-Scargle Periodogram

0.14 - —— Data
0.12 4 —— Period: 13.35 epochs
=== 99% FAP (Power = 0.5)
C 0.10 1 Data - Fourier Fit 1
Y 0.08 Period: 13.33 epochs
g 99% FAP (Power = 0.5)
a 0.06
0.04
0.02
0.00 LMUUHILU”[U ﬂjll — . . . . —
102 103
40 - Period [epoch]
-== Linear Fit (BIC: -329.60) best
—— Fourier Fit 1st (BIC: -328.35) below 99% FAP
30 1 Fourier Fit 2nd (BIC: -322.22) below 99% FAP
= ¢t Data
c 20
Q 10-
@)
0 -
_10 T T T T T T
—-1000 —-800 —-600 —-400 —-200 0
Epochs
40 A
1-sigma region
3-sigma region
301 ¢ Data
E 20
£
L.) 10 A !
@) {{ *
0 - t $o ¢ ¢ $e . .* e
| { bty b || - =t
_10 T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0
10 Phase (Period: 13.35 epochs)
1-sigma region
— 30 - 3-sigma region
£ ¢ Data - Fourier Fit 1
-
= 20 A
u
©
-8 10 A
‘0
$ \ |
0 - ) ° * ') . ° * 4 i ) i ¢ i * ; ° ; *
0.0 0.2 0.4 0.6 0.8 1.0

Phase (Period: 13.33 épochs)




